51.000.4.0032

58.009.3.0005

N2 SELF-LOCKING SCREW (VTSIC) 03.5x13

52 999 4’ 024’6 COMPLETE SWITCH 230V,/50Hz 240V/50Hz 220V/60Hz

5299940238 COMPLETE SWITCH 115V/50Hz 115V/60Hz

25.000.3.0014

RADIO NOISE CAPAGITOR 150nF

51.000.3.0620

N4 RIVETS

51.000.3.1139

MOTOR AND SERIAL NUMBER PLATE

27000500(}‘ FAIRLEAD FOR 115V/50Hz 115V/60Hz

5/‘ OOO 50468 FAIRLEAD FOR 230V/50Hz 240V/50Hz 220V/60Hz

25.000.3.0010

58.032.3.0001

SNAP RING 234.5x028x0.5

58.022.3.4002

N‘2 ROSETTA @5,3xe15x1,6

58.003.3.0508

N2 SCREW (VTCEI) M5x60

58.022.3.2003

N4 NOTCHED WASHER o6

58.003.3.0610

N2 SCREW (VTCEI) M6x60

58.003.5.0616

N2 SCREW (VTCEI) M6x75

51.000.3.0039

58.003.3.0404

N'4 SCREW (VTCEI) M4x16

51.000.4.0035

51.000.3.0620

N4 RIVETS

51.000.3.1240

51.000.5.0055

51.000.3.0407
51.000.3.0412

51.000.4.0031KT

51.000.3.0038
58.003.5.060/

N'2 SCREW (VTCEI) M6x30

51.000.3.1121

51.000.3.0620

N'3 RIVETS

PAGE 2

58.022.5.3002

N2 NOTCHED WASHER @5

PAGE 2

51.000.3.0620

N2 RIVETS

51.000.3.1239

24.000.4.0001KT

K&T STANDARD COLOUR: HAMMERED BLUE (ANY OTHER RAL COLOUR AVAILABLE ON DEMAND AND SUBJECT TO A MINIMUM REQUESTED QUANTITY)

24.999.5.0000 - PEGASUS 230V/50Hz

24.999.5.0000SW - PEGASUS 230V/50Hz SPHERICAL WHEEL

24.999.5.0001 - PEGASUS 115V/60Hz
24.999.5.0002 - PEGASUS 240V/50Hz

24.999.5.0003 - PEGASUS 220V/60Hz

24.999.5.0004 - PEGASUS 240V/50Hz UK

24.999.5.0004SW - PEGASUS 240V/50Hz UK SPHERICAL WHEEL
24.999.5.0005 - PEGASUS 115V/50Hz

=
KUNZLE
)) Via CAJKOVSKIJ 14=20092-CINISELLO BALSAMO (M\)
TEL. 02/66040930 FAX OZ/@@OBMB

& TASIN

COMMERCIALE
PEGASUS
230V/50Hz - 240V/50Hz - 220V/60H
115VIS0Hz - 116VI60HZ MAY 2015




02.999.4.0500

STATOR 230V/50Hz

072.999.4.0507

STATOR 115V/60Hz

02.999.4.0508

STATOR 240V /50Hz

07.999.4.0509

STATOR 220V/60Hz

572.999.4.0510

STATOR 115V/50Hz

02.999.4.0224

COMPLETE ROTOR 115V /50Hz

58.040.5.2006

BEARING 6202-2RS1

02.999.4.0225

COMPLETE ROTOR 230V/50Hz

02.999.4.02206

COMPLETE RQOTOR 115V/60Hz

52.999.4.0239

ROTOR 230V/50Hz

52.999.4.0240

ROTOR 115V/60Hz

52.999.4.0241

ROTOR 240V/50Hz

52.999.4.0242

ROTOR 220V/60Hz

52.999.4.0243

ROTOR 115V/50Hz

02.999.4.0227

COMPLETE ROTOR 240V/50Hz

02.999.4.0228

COMPLETE ROTOR 220V/80Hz

51.000.4.0415

COOLING FAN

51.000.4.0417

04.000.4.0418

VACUUM FAN

58.040.5.2010

BEARING 6202-2RS1

51.000.5.0045

51.000.5.0046

@ KUNZLE & TASIN
& )) Via CAJKOVSKIJ 14-20092—CINISELLO BALSAMO (M\)
TEL. 02/66040950 FAX OZ/@@OBMB

PEGASUS

230V/50Hz - 240V/50Hz - 220V/60Hz
115V/50Hz - 115V/60Hz

COMMERCIALE

PAGE 2/6

MAY 2015




28,003.5.0605 G
x o 51.000.4.0034KT

58.022.3.2003
N4 NOTCHED WASHER o6

g
Tel < %;
S Z /,%ﬁ = 51.000.3.0001
~ ;< Q 51.000.3.0029

58.022.3.0004
WASHER 28,4xa16x1,6

52.999.4.0214
52.999.4.0213KT

24.000.3.0010
24.000.3.0031

58.005.3.0402 I

N7 SCREW [VTS\C) M4x12 SN

= 24.999.4.0001
ETE PULLEY ASSENBLY

COMPLI

24.999.4.0003

58.005.3.0402
N'9 SCREW (VTSIC) M4x12

52.999.4.0546GA

51.000.3.0050
58.007.3.0803
SCREW (VTE) M8x25

24.999.4.0001

For I COMMERCIALE
@ Via CAJt<O\$SJKlI}l 1Z4—L20EO92§3§NISE-I|_I_/(?\BSAL|SI>IMO (MI) P E G AS U S PAGE 3 / 6

TEL. 02/66040930 FAX 02/66013445 MAY 2015




02.999.4.0215K1

COMPLETE "SPHERICAL WHEEL" GROUP

58.007.3.0805

SCREW (VTE) M8x35

51.000.4.0054KT

SN.999.5.035N0BMO0

"SPHERICAL WHEEL" NICE SOFT BALL

02.999.4.0214

WHEELS COMPLETE GROUP

58.007.3.0805

SCREW (VTE) M8x35

51.000.4.0051KT

52.999.4.0550

66.999.4.0012

COMPLETE WHEEL

51.000.5.1131

= COMMERCIALE
@ Via CAJ}SOVQK[\JJ %Eo%w%%sio&is%o (M) PEGASUS PAGE 4/6

TEL. 02/66040930  FAX 02/66013445 MAY 2015




24.000.3.0063

2 PAPER DUST BAGS BLISTER

52.999.4.0576

COMPLETE PAPER BAG HOLDER

\

EXTRA [TEM EXTRA [TEM

52.999.4.0580 52 999 4 0575

FABRIC DUST BAG WITH LOGO BAG HOLDER
24.999.4.0004

04.999.4.05/0

COMPLETE COMPASS

FRONT HANDGRIP

EXTRA ITEM

02.999.4.0056

EXTRA HANDGRIP

- {
SC

01.000.5.1284

PLUG ADAPTOR 13A UK

@ KUNZLE & TASIN
& )) Via CAJKOVSKIJ 14-20092-CINISELLO BALSAMO (MI)
TEL. 02/66040930 FAX 02/66013445

COMMERCIALE

PAGE 5/6

PEGASUS

MAY 2015




29.000.5.0135

7 MT POWER CABLE (SOCKET SCHUKO+PLUG USA)

29.000.3.0115

7 MT POWER CABLE (SOCKET AND PLUG SCHUKO)

0/.999.5.0019
A

10 MT POWER CABLE (SOCKET AND PLUG USA)

29.000.5.00/8

CABLE 200 MM + PLUG SCHUKO

02.999.4.1197

02.999.4.058]1

TOOLBAG

sssssssssssssss

51.000.3.0472
H

PUNCH

51.000.3.0148

ROD

02.000.3.0299
ALLEN WRENCH 5

51.000.5.1036
N WRENCH 3

KUNZLE & TASIN

&

Via CAJKOVSKIJ 14-20092-CINISELLO BALSAMO (M)
TEL. 02/66040930  FAX 02/66013445

COMMERCIALE

PEGASUS

PAGE 6/6

MAY 2015




